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Z ={0,+1,42,43,...} o

Q={:pezZqez\{0}} *
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NCczZzcQcRcC
nZ ={0,£n,£2n,...In

—5[10a|bka = bk € Zbaa, b
0<r<|dn=qd+rqrd#0,neZ
dn

n,m

(n,m) = {d € N:dnANdm}
(2,5) = 1(n,m) = 1n,m(6,10) = 2(n, m)



badd|bd|a

(n,m) = (m,r)n=qgm+r

d < (m,r)dlr =n — gmn,mrdlmd|nd = (m,r)d = (n,m)
d= (m,r)(m,r) < d(m,r)n(m,r)mm,rn(m,r)|n(m,r)|m(m,r)|r

(n,m)=(m,r)0<r<mn=qgm+r(nm)=nm=00<m<n

4753
(53,47) = [63 =147 + 6]
(47,6) = [47=T7-6+ 5]
(6,5) =1
(224,63) = [224 = 3 - 63 + 35]
(63,35) = [63 =135+ 28]
(35,28) = [35=1-28+ 7]
(28,7) = [28_4 740]
(77 O) =
a,b

(a,b) = {au+bv € N}
(a,b) = sa + ths,t € Z
(a,b) € aZ + VZ

s, t
(234,61) = [234=3-61+51 = 51 = 234 — 3 - 61]
(61,51) = [s1—151410 = 10 = 61 — 1-51 = 61 — 1 (234 —3-61) = —1 - 234 + 4 - 61]
(51,10) = [s1=51041 = 1 =51 = 5-10 =51 —5-(—1-234 +4-61) = 6- 234 — 23 - 61]
(10,1) = 1

(234,61) =1=16-234 —23-61
alcalbe(a, b) = 1a, b, ¢



alcal (sac + tbe)altbea|sace = sac + tbecl = sa + ths, t

elde|lne|lmed = (n, m)
(an,am) = a(n,m)

plbplap|abp
dsn + tme|n, md = sn + tms, t
plbpplabpsab + tpb = bbsa + tp = 1s,t(p,a) = 1ptfa
n,m

(n,m) = {d € N:n|d Nm|d}
[2,5] = 10[6, 10] = 30[n, m]

[n, m] |an|am|a
6,4] (6,4) =12-2 =24 =6-4[n,m] (n,m) = |nm)|

[n,m]r # On,m|rn, m|[n,mln,mla0 < r < [n,mla = q[n,m] + rq,r
[n,m]aa = g [n,m]

o0 o0
n=11p"=ppps .. m =[] = pipsirse ..
i=1 =1
@, 5 20
[e.9] oo
(TL, m) _ sz(omﬁi) [n’ m] _ le('oziﬁz‘)
i=1 =1

[n,m] (n,m) = [nmla+ 8 = (a, B) + (a, B)a, B



ksiny + -+ sgnp = dsy, ..., gy, ..., gd
nbaa =b (n)a = b+ knk € Zn|a — bna,b € Zn
a+c=b+d (njac=bd (n)a=b,c=d (n)nn
333333
333333 — 3333 , 111333
11=1 (10)=111"* =1 =1 (10)
3333 _ 948341 _ <34)81 .3-81%.3=1%.3 ( 10)
333%3 =33 1113 =3 (10)
3
6lr=1(234)0<zecZ

r = —231 = 6-234 — 23 - 61k, (234,61) = 123461161z + 234k = 1k € 7Z
x = 211z( 234)

r=b(m)xr=a ( n)nmzxa,b € Zn,m

bsn + atmaxsn +tm = 1s,t € Z(n,m) =1

bsn+atm=atm=a-1=a (n)
bsn+atm=bsn=b-1=b (m)

k € Za' = x + kmnx = bsn + atm
nmanmnm(a, b)nmnmaz(a, b)nmx

n=>55m=3-1-5+2-3=153) =1lr =2 (ber=1(3)re€Z
7=2(5)7=1(3)a=1-(-5)+2-6="Ts=—1,t=2
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15=0(5)15=0(3)3-5=15y =Ty =3
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